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Quizzes
Answers 

1. The spotlight puzzle

A conference room contains three separate wall-mounted spotlights - right, left and front of stage. Each is controlled by its own on-off switch. These three switches are numbered 1, 2 and 3, but they are in a back-room which has no sight of the the spotlights or the conference room (and there are no reflections or shadows or mirrors, and you are alone). How do you identify each switch correctly - right, left, front - if you can only enter the back-room once?

Switch on number 1 and leave it on for 30 seconds, then switch it off. Switch on number 2 and leave it on. Enter the conference room. The spotlight that is on is obviously number 2. The spotlight that is warm is switch 1, and the other spotlight is number 3
2. What connects these words?... Dram, Colon, Won, Dong, Kip.

They are currencies (as at May 2005), specifically: Dram (Armenia), Colon (Costa Rica, El Salvadore), Won (North Korea, South Korea), Dong (Vietnam), Kip (Lao People's Democratic Republic, formerly Laos).

Scientist Dr Alexander Graham Bell, inventor of the telephone, had what well known unit of measurement was named after him? 

The bel, from which: the decibel (a decibel is one tenth of a bel). The bel or decibel is actually a measurement of relationship between two values of power - it is not a constant unit like a metre or a pound or a volt. When we see noise levels shown in decibels, the noise (power) is normally shown relative to a nominal zero (0dB) which is based on the quietest sound perceivable by the human ear - the threshold of hearing. A bel is a power ratio (relationship measurement) of ten times. The decibel is more widely used simply because it enables measurements in smaller increments. In decibels, here are some values of different noises: normal breathing 10dB, toilet flushing 80dB, chain saw or rock concert 120dB, shotgun 170dB. Amazingly a baby crying is 110dB.

What do these words have in common, and what does each word mean in that common context? 

· string, ostentation, smack, pitying, crash, unkindness, murmuration, drove, pod, murder, knot, colony, grist, brood, shrewdness, school, siege. 

They are collective nouns for living creatures:

*
string of ponies

*
ostentation of peacocks 

*
smack of jellyfish 

*
pitying of doves 

*
crash of rhinosceroses 

*
unkindness of ravens 

*
murmuration of starlings 

*
drove of cattle

*
pod of seals 

*
murder of crows 

*
knot of toads 

*
colony of ants 

*
grist of flies

*
brood of hens 

*
shrewdness of apes 

*
school of fish

*
siege of herons

What 15-letter word contains the letter 'E' five times and no other vowels? 

Defencelessness.

To circus people, what is a 'First of May Joey'? 

A new clown that has just joined a circus - the expression was used by circus folk: 'Joey' after Joseph Grimaldi, 'The Father Of Clowns', 1779-1837, the famous pantomime clown who never actually appeared in a circus ring, but who provided the blueprint for circus clowns by his costume, make-up and performances in English pantomimes in the late 18th and early 19th centuries. And 'May', because the 1st of May was traditionally the start of the circus season.

What is deoxyribonucleic acid? 

de ho oxy ribo nucleleic ACID
DNA.

What word ends with an S in its plural masculine form, but changes to singular feminine when another S is added to the end? 

Princes/Princess. (Ack D Robinson) 

What countries of Europe have flags with vertical stripes of these colours? - black/yellow/red; blue/white/red; red/white/green? 

Belgium, France, Hungary.

What is the capacity of a 'barrel' as commonly referenced for crude oil production? Also, what does OPEC stand for, and what are the eleven member countries (as at October 2004)? 

The capacity of a 'barrel' of crude oil is 35 UK gallons or 42 US gallons, or 159 litres. The OPEC abbreviation stands for the Organisation of Petroleum Exporting Countries. Current members (as at October 2004) are Algeria, Indonesia, Iran, Iraq, Kuwait, Libya, Nigeria, Qatar, Saudi Arabia, the United Arab Emirates and Venezuela. OPEC was officially formed on 14 September 1960 in Baghdad, Iraq, by the five founder member countries: Iran, Iraq, Kuwait, Saudi Arabia and Venezuela, and the OPEC organisation was registered with the United Nations Secretariat on 6 November 1962 (United Nations resolution number 6363). (Thanks for US/UK gallons correction JDQ)

Where would you find stags and kites (along with a couple of other creatures that would surely give the game away)? 

The London Stock Exchange - a stag is a speculator who buys initial allotments of shares in the hope of selling them immediately for a premium upon listing while risking a loss if they fail to meet initial allotment price; a kite is a cheque, or originally a dud cheque drawn on a fraudulently established bank balance; and the other two creatures more commonly associated with financial markets are bulls and bears. 

What was 'Sphairistike'? (The word is Greek, loosely meaning 'ball-game', and an earlier version was known by the French as 'Jeu de Paume'). 

'Sphairistike' was the name of the portable outdoor game, and particularly the set of equipment, devised by Major Walter Clopton Wingfield and patented in 1874, now known as Lawn Tennis. His brand name never caught on, soon being shortened to 'Sticky' (from the pronunciation sfer-is-ti-kee) before the name quickly reverted to its historical roots. The word tennis had been used to describe other versions of the game since about 1500, and even earlier as 'tenyes' (1300's) possibly from the French 'tenez', from tenir, to hold or receive (the serve). Interestingly, the language and history writer Bill Bryson maintains that Arthur Balfour, prior to becoming British Prime Minister, suggested the name Lawn Tennis. Arguably it was the 'portability' of the Sphairistike equipment set that was responsible for the game's speedy introduction (by Mary Outerbridge) to the USA, also in 1874. She obtained a 'Sphairistike' set while on holiday in Bermuda and took it back to her Staten Island home. Meanwhile, the Wimbledon Club adopted Lawn Tennis after hosting a tennis event ostensibly to raise money for a pony-drawn roller for its croquet lawns in 1877.

What icon of 20th century design was the Chapman Root Glass Company of Indiana responsible for introducing in 1915? 

The Coca-Cola bottle; also known variously as the 'hobble skirt', the 'Mae West', the 'Thanksgiving' and the 'Christmas' bottle. By the 1990's it had become almost certainly the most recognizable corporate identity symbol on Earth, known to 90% of the world's population. The bottle itself was trademarked by Coca-Cola in 1960.

What twelve animals feature in Chinese astrology?

horse, sheep, monkey, rooster, dog, boar, rat, ox, tiger, rabbit, dragon, snake.

These seemingly unpronouncable sounds actually appear in common English words; what are the three words? – 

sthm, tchphr, tchst. asthma, catchphrase, matchstick. The less common alternative word with the 'sthm' letter set is isthmus, which is narrow connecting-piece between two larger pieces, normally land (as in the geographical term), but the word also can apply in an anatomical or botanical context. (Ack JP)

These very old iconic symbols were responsible for what modern system? - the moon, the sun, the planet Saturn, and the Anglo-Saxon gods: Thor, Tiw, Woden, and his wife Frig. The days of the week.

A father took his son to hospital for emergency treatment after an accident. The doctor greeted them, but on seeing the boy, exclaimed, "I can't operate on him - he's my son!" How can this be? (The son was not adopted, nor a step-son.) 

The doctor was the boy's mother.

The 'Frying Pan' was a 1931 prototype and early production nickname for what item of electro-magnetic equipment? 

The electric guitar. The prototype's body was made of maple wood; production models were of cast aluminium.

Lincoln's stunning 1955 Futura convertible concept car appeared in motor shows to wide acclaim until 1959, when it achieved even greater notoriety, featuring the 1959 film 'It Started With A Kiss' starring Glenn Ford and Debbie Reynolds. The car later became even more famous for what reason? 

It became the Batmobile. The Futura had been acquired by Hollywood car builder George Barris from the studio after its apprearance in 'It Started With A Kiss', and Barris decided to use it as the donor vehicle for the famous Batmobile when he was given the project in 1965 for the Batman TV series launched in 1966. Barris was too busy to build the car himself (he was given just three weeks to do it), so he specified the adaptations and the work was carried out by Barris's competitor Bill Cushenberry. Incredibly, Barris retained the rights to the car and leased it to the Batman studios on a week to week basis. 

Name a common word with five consecutive vowels. 

Queueing. Less common is miaoued (pertaining to a cat's cry, found in some dictionaries). Words with four consecutive vowels include sequoia (giant redwood tree) and aqueous.

Catholic bishops are allowed seven of them, priests five, and ordinary people one; what are they? 

Crosses on a tomb.

Why do we say 'Bless you' to someone who has sneezed? 

While there are variations around the theme, the main origin is that sneezing was believed in medieval times to be associated with vulnerability to evil, notably that sneezing expelled a person's soul, thus enabling an evil spirit - or specifically the devil - to steal the soul or to enter the body and take possession of it. Another contributory factor was the association of sneezing with the Black Death (Bubonic Plague) which ravaged England and particularly London in the 14th and 17th centuries.

Whose secret ingredient is code-named 7X? 

Coca-cola.

Why did so many sailors have a crucifix tattooed on their backs in the 1700's?

In the hope that the ship's captain would be merciful in the event of having to administer punishment by whipping.

What's the longest word in the English language with only one vowel? 

Strengths. (Latchstrings is the longest word with two vowels; latchstring is also the word with the most consecutive consonants.)

What do the words ALMOST and BIOPSY have in common? 

Their letters are in alphabetical order.

What's the only word in the English language having four consecutive double letters? 

Subbookkeeper. (bookkeeper, bookkeeping and tattooee are the only words having three consecutive double letters.)

Draw a capital T over a capital C so that the down-stroke of the T ends in the centre of the C. What historical event does this represent?

 The Boston Tea Party, of 16 December 1773, when a group of US colonial political activists disguised as Mohawk Indians dumped 342 chests of Darjeeling tea, then worth about £10,000, into Boston harbour in protest against the British tax policies, introduced by the British government to save the ailing British East India Tea Company, who were thus enabled to export £1⁄2m of tea to the American colonies free of duty, undercutting Amercian traders. Incidentally, the tea was shipped by an exporter in London, still in existence, which today sells a tea called "Boston Harbour." This type of puzzle is called a rebus.

What five odd figures when added together make fourteen? 

11, 1, 1, 1. (Five figure ones.)

The time displayed usually on watches and clocks in adverts is what?, and why? 

Ten minutes past ten, because it looks like a smiling face. 

What are the only four commonly used words in the English language ending in 'dous'? (There is a fourth not-so-common word, and a fifth very uncommon one, which also has one of each vowel in the correctorder)

Tremendous, horrendous, stupendous and hazardous. The not-so-common word is jeopardous. The uncommon word with all the vowels in the correct order is Annelidous (pertaining to annelid, which is a segmented worm).

What is the only word in the English language that ends in 'mt'? 

Dreamt.

What are the longest one-syllable words in the English language?

Longest single-syllable words questions often appear in quizzes and trivia pages. The only single-syllable, ten-letter word we know is scraunched (ack C Bullard), which is the past tense of the verb to scraunch, meaning to make a crunching noise, for example when walking on gravel. There are several single-syllable words with nine-letters, strangely most beginning with the letter'S': screeched, strengths, straights, scratched stretched, scrounged, scrunched, and the less commonly-known: scraughed, scraunched, scrinched, scritched, scrooched, sprainged, spreathed, throughed and thrutched. (Let me know if you find another one with ten-letters...) Thanks PT.

Two words that sound exactly the same and have opposite meanings. (They are spelt differently but phonetically - they sound - the same): There are several examples: 

*
Raise (build up) and Raze (destroy to the ground). 

*
Wave (dismiss) and waive (allow). 

*
Sent and Scent (as in 'dispatch to' and 'receive from' - not quite so clear-cut as the first two pairings, and not the same tense, but opposites nevertheless - thanks Rachel Sharkey). 

*
Pair and Pare (to increase by doubling-up, and to reduce by cutting or trimming away - thanks Kari Caron). 

Words which without changing the spelling or sound have two opposite meanings. There are several examples of these words which are spelt the same and have two opposite meanings: 

*
Clip (join two or more things together as with a paper-clip) and Clip (divide something into two or more pieces, as in clip an article from the paper or clip someone's hair)

*
Dust (remove a layer of powdery substance) and Dust (apply a layer of powdery substance, as in dusting crops or dusting for finger-prints). 

*
Trim (add to or embellish, as in trim the Christmas tree) and Trim (cut away something, as in trim someone's hear or a hedge). 

*
Cleave (split apart or break) and Cleave (stick or adhere). (See the explanation under cliches origins for more detail.) 

*
Ravish (to violently abuse) and Ravish (to delight)

*
Fast (quick) and Fast (stuck tight)

*
Sanction (a permission) and Sanction (a preventative penalty)

*
Sanguine (cheerful) and Sanguine (bloodthirsty)

*
Bolt (secure in place) and Bolt (run away). And perhaps more tenuously, the hypenated double-word constructions:

*
Blow up (inflate - create - a balloon) and Blow-up (destroy with explosives)

*
Wind-up (start something, like a clock or an argument) and Wind-up (finish something, like proceedings or a talk). (Acknowledgements to P Merison, G Comstock, and Bill Bryson's book Mother Tongue.

What trades or occupations are associated with these surnames? (easy ones first) Turner, Joiner, Glazier, Draper, Cartwright, Bowyer, Fletcher, Wainwright, Tanner, Scrivener, Sexton, Cooper, Horner, Chandler, Mercer, Franklin.

 (easy ones first) Turner (lathe operator), Joiner (carpenter), Glazier (Glass fitter), Draper (cloth seller), Cartwright (cart maker), Bowyer (archery bow maker or seller), Fletcher (maker of arrows), Wainwright (cart maker - a wain is a cart), Tanner (converter of hides and skins into leather), Scrivener (writer of legal documents), Sexton (church maintenance worker), Cooper (barrel maker), Horner (maker of animal-horn items, such as spoons and combs), Chandler (candle seller or grocer), Mercer (textile dealer), Franklin (substantial landowner).

The sequence 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 incorporates another sequence: 

1, 1, 1, 2, 2, 1, 1, 1, 1, 2. Why? Normally this is the number of times the pen is placed on the paper to form each number.

What connects Wedgwood pottery and The Origin Of Species? 

Josiah Wedgwood (Wedgwood pottery founder) was grandfather to Charles Darwin (author of The Origin Of Species).

What do these letters mean? ABZ, BGO, HAJ, MEL, ORD, SPK. 

They are all airport codes, respectively for Aberdeen (Scotland), Bergen (Norway), Hanover (Germany), Melbourne (Australia), O'Hare (Chicago USA) and Sapporo (Japan). (Thanks ADS for Melbourne correction)

What is 'trichlorophenylmethyliodisalicyl' more commonly known as? 

TCP antiseptic. 

What order is denoted by the following prefixes? First, Middle, Morning, Forenoon, Afternoon, First Dog, Last Dog. 

Watches at sea. 

Complete the sequence (three more needed): S, H, S, M, C, D, P, R, O, ... T, R, D.

 Snake, Horse, Sheep, Monkey, Chicken, Dog, Pig, Rat, Ox, Tiger, Rabbit, Dragon - the Chinese years (Dragon was 2000 - the cycle repeats every 12 years). 

Why was Dr Who's 'Tardis' so called? 

It's an acronym - Time And Relative Dimensions In Space. 

What was the origin of the 3M company name? 

It was originally the Minnesota Mining and Manufacturing Co. 

Who was Lady Creighton-Ward? 

Lady Penelope from TV's 'Thunderbirds'. 

What did Mikoyan and Gurevich design? 

The Russian MiG jet fighter aircraft. 

What's the difference between a rhombus and a rhomboid? 

 (They are both four sided parallelograms, ie having parallel sides especially with oblique angles) - a rhombus has equilateral sides (all four sides of the same length); a rhomboid has unequal adjacent sides. 

The first Englishman to be killed in a plane crash had another claim to fame, what was it? 

He was Charles Stewart Rolls, who with Henry Royce founded the Rolls Royce motor car company in 1906. (Rolls also made the first non-stop return flight across the English Channel in 1910 shortly before his fatal plane crash in July of that year. His French-built Wright biplane broke up mid-air, and while he only came down from 20 feet, he cracked his skull and was killed, becoming Britain`s first aircraft fatality.) 

What's special about the words 'reverberated' and 'stewardesses'? And in the same vein, lollipop? 

The first two are the longest words that can be typed with the left hand on a qwerty keyboard. Lollipop is the longest word that can be typed with the right hand. 

Name a fifteen letter word containing fifteen different letters. 

Uncopyrightable, or more unusually (thanks R Andaya), Dermatoglyphics (the study of skin ridges on fingers and hands, ie., fingerprints and handprints; the word is from the Greek words 'derma' meaning skin and 'glyph' meaning carving). 

Complete the sequence (five more required): deca, hecto, kilo,.... 

They are the metric prefixes: deca, hecto, kilo, mega, giga, tera, peta, exa, respectively ten to the power of 1, 2, 3, 6, 9, 12, 15 and 18. The minus scale is deci, centi, milli, micro, nano, pico, femto, atto. 

What do these pairings have in common and what is the odd pair in the sequence? - AA, AI, IO, OU, OX, BO, KI. 

They're all two letter words: AA is the odd one because it's not a living thing (it's a rough light basaltic volcanic lava, pronounced ah-ah, from the original Hawaiian word 'a-'a.) An ai is a sloth, an io is a moth, an ou is a bird, an ox is a cow or bull, a bo is a fig tree, and a ki is a plant of the lily family. 

What is it?: the people who make it don't want it, the people who buy it don't use it and the people who use it don't know. 

A coffin. 

Christie's in 1994 (by Bill Gates incidentally). 

What is assessed by the international grading system known as the Four C's, and what does each of the C's represent? 

Diamonds - American Richard Liddicoat designed the International Diamond Grading System for evaluating finished stones in 1953 - the Four C's are Cut, Colour, Clarity, and Carat-weight. 

What's special about these sets of letters: SA - DK - XLNC - NV - NME - FND - XPDNC? 

Spoken aloud they all make words: essay, decay, excellency, envy, enemy, effendi (effendi is a man of education or standing in the Arab world), and expediency, which is the longest word that can be represented in this way. 

Who were 'Too Much' and Norville Rogers? 

'Too Much' was the original script name for Scooby-Doo; Norville Rogers was the character Shaggy's real name in the series. 

There are lots of countries and continents that begin with the letter 'A'. Two of them differ from the rest; which two and why? 

Afghanistan and Azerbaijan - all the others end with 'A'. Here's the full list, amazingly: Angola, Algeria, Armenia, Albania, Andorra, Austria, Antigua, Australia, Argentina, Aruba (Aruba is a small island (193 sq km) off the the coast of Venezuela, discovered and claimed for Spain in 1499, acquired by the Dutch in 1636, and becoming an autonomous member of the Kingdom of the Netherlands in 1986. Movement toward full independence was halted at Aruba's request in 1990 - thanks DC), Africa, Asia, Antarctica, and arguably America and Australasia. 

Who has appeared more often than any other woman on the cover of Time magazine? 

The Virgin Mary. 

What do these pairs have in common? Lenny Henry and Michael Jackson - Peter Gabriel and Stevie Wonder - John Motson and Virginia Wade - Stanley Kubrick and Danny La Rue - Charles Dance and Chris Tarrant. 

Their dates of birth, ie, each pair was born on the same day. 

What oversized onomatopoeically-named mechanism was put on display for people to use at the British Empire Wembley Exhibition in 1924, in order to reassure the public as to its safety and reliability? 

The zip fastener. ('Onomatopoeic' describes a word which sounds like what it is.) 

A pair of red shoes were sold at auction in 1988 for £90,000. What made them special? 

They were worn by Judy Garland in the film 'The Wizard of Oz'. 

What is unusual and probably unique about British postage stamps? 

They don't have the nation's name on them. 

A man is walking home with his dog at a steady 4mph. With 6 miles to go the dog is let off the leash and runs all the way home at 6 mph. The dog immediately turns and runs back to the man at the same speed, and upon meeting him it turns and runs home again. It continues to run back and forth at the same speed until the man reaches home. What distance has the dog run since being let off the leash? 

9 miles (the man takes one and a half hours to walk 6 miles at 4mph, and a dog running at 6mph for one and a half hours would cover 9 miles in that time.) 

What year when written in Roman numerals uniquely contains one each of the Roman number symbols in descending order?

MDCLXVI = 1666 (M = 1000, D = 500, C = 100, L = 50, X = 10, V = 5, I = 1.) 

Irrespective of size and gauge, what is the most number of times a square piece of paper can be folded in half? (And not by repeatedly folding and unfolding it which would be cheating.)

Seven. 

What did each of these brand names originally represent? Athena, Nike, Vesta, Mercury, Vulcan, Flora, Mars. 

Athena was Greek goddess of wisdom; Nike was Greek goddess of victory; Vesta was Roman goddess of the hearth; Mercury was Roman messenger of the gods; Vulcan was Roman god of fire; Flora was Roman goddess of flowers; Mars was Roman god of war. 

With no pre-selection, and excluding February 29th, what's the smallest number of people in a group required to ensure a better than even chance of at least two having the same birthday? That's birthDAY, notbirthDATE.

Just 23. Each person has a 343 in 365 chance of no other person having the same birthday. When you multiply together each of the 23 person's chances of having a different birthday, you arrive at value of 0.493, ie 49.3%. Therefore there is a 50.7% likelihood of two birthdays being the same. 

Does a bullet fired straight up into the air take longer to go up or to come down, or the same time, and why? 

The bullet takes a lot longer to come down because its return speed is limited to the force of gravity against air resistance, ie., 'terminal velocity', of just 300 feet per second, which is substantially below the muzzle velocity of any gun. For example the muzzle velocity of a 2nd World War Lee Enfield rifle is 2,350 ft/second. 

How many different batting orders are possible in a team of eleven cricketers? 

Nearly 40 million: the calculation is 11 x 10 x 9 x 8 x 7 x 6 x 5 x 4 x 3 x 2 x 1 = 39,916,800. 

What famous confrontational sporting ritual begins with the words, "Ka Mate Ka Mate..." 

How many times would a football rotate if rolled around the middle circumference of another football of the same size?

 Twice exactly - try it with a couple of the same sized coins. 

Why are buttons on women's and men's clothing such as jackets and shirts on different sides (and for the same reason, why do bras fasten at the back?) 

Because when garments of these types were first worn, men traditionally dressed themselves, so buttons were placed on the right side, (for the right-handed majority). Women were often dressed by maids, so the buttons were put on the opposite side to make it easier for the maid. Bras were made rear-fastening to preserve the dignity of both maid and mistress. 

A part of a wheel is a SPOKE, another word for people is FOLK, so how do you spell the word for the white of an egg? 

Not yoke or yolk - the white of an egg is called the albumen. 

A man knew he was bankrupt the moment he stopped his car outside a railway station. How? 

He was playing Monopoly. 

A stamp collector paid $100,000 for a stamp and then deliberately destroyed it. Why? 

To make the other one unique and therefore dramatically increase its value. (There were only two in the world and he owned the other one.) 

Two chess masters played fifteen consecutive games of chess. No games were drawn, every game was finished, yet both players won and lost the same number of games as each other. How could this happen? 

They were each playing other people. 

A bucket and spade together cost £25.50. The spade costs £20 more than the bucket. What is the price of each? 

Spade £22.75, Bucket £2.75. 

Complete the sequence: O, T, T, F, F, S, S, ... 

Eight Nine Ten . . . 

mind set trick: If you try this with a group ask for people not to shout out answer; it will spoil it for those who get really stuck. Strangely many people will struggle for ages because they get stuck in the same mind set used for the previous square and triangle solutions (whereas the answer is obviously four horizontal or vertical lines to make five equal sections).
incredible planning tool: a pencil
------------------------------------------------------------------------

Find the man between the coffee beans.
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    Doctors have concluded that if you find the man in 3 seconds that your

    Right half of your brain is better developed than most people. If you

    find the man between 3 seconds and one minute, then your right half of

    the brain is developed normally. If you find the man between one minute

    and 3 minutes, then the right half of your brain is functioning slowly

    and You need to eat more protein. If you have not found the man after 3

    minutes your right half of your brain is a mess, and the only advice is

    to look more for these types of exercises to make that part of the brain

    stronger.

    

    The man really is there.

    In fact, once you find him, you cannot miss him afterwards!
[image: image4.png]









�













